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1.( )CPU—# ¢ 8P 235 (a) Program, (b) Processing, (c) Procedure, (d) Pointer

2.( )RAM —# ¥ A 245 (a) Address, (b) Application, (c) Access, (d) Array -
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1. (30 72, BV/INESSY) ARG T SRRy -
(a) stack, (b) queue, (c) priority queue, (d) binary searh tree, () max heap, (f) height balanced tree.

2. (2053, 5/NE553) R —{E root EIBEGELAER 5)4 tree » MRFEMIA 1,2, 3,7, 8,9 » 55 tree 55
(a) binary searh tree, (b) max heap, (c) AVL tree, (d) 2-3 tree,
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4. (20 73, B/ NEESSY) ST E THY tree » B E R traversal BIIES o
(a) preorder, ( b) inorder, ( ¢) postorder, (d) levelorder.
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bool isPalindrome (string inputStr) bool isPalindrome(string inputStr)

{ {
if (inputStr.size()==0) return false; if (inputStr.size()==0) return false;
if (inputStr.size()==1) return true; if (inputStr.size()==1) return true;
int 1 = 0, j = inputStr.size() - 1; Stack<char> myStack;

Queue<char> myQueue;
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//HEEF inputStr.at (j) R FEREZ —EET for (int i=0; i<inputStr.size(); i++) {
myStack.push (inputStr.at (i));
myQueue. enqueue (inputStr.at (i));

}
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